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CE-203 : Advanced Accounting & Auditing
(Cost Accounting - 2)

Time : 3 Hours| [Max. Marks: 70

Instructions : (1) All the questions are compulsory .
(2)  Figures to the nght indicate marks.
(3)  Show all the necessary caleul, g as 4 part of your answer

|. NEIL Ltd. has produced and sold 1000 units at 50% capacity during the year 2015. The

costing details for 31-12-2015 are as under 14
Particulars Amt. (T)
Materials 5,00,000
Direct wages 3,00,000
Direct expenses J 1,00,000
Factory overheads (50% variablc) 2,00,000
Oftice overheads (fixed) 1.50.000

Selling-distribution overheads (40% variable) 1,00,000

Sales 16,20,000

Estimate for the year 2016 are as under :

(1) Output will beat its full production capacity of which 80% units will be sold.

(2) Cost-of raw materials and wages per umit will increase by 20% and 10%

respectively.
(3) Fixed expenses will increase as under :
<
Factory 50,000
Office 40,000
Selling-distribution 20,000

AL-118 9 P.T.O.
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(4) Variable selling expenses will increase by 25% per unit.
(5) Profit on cost will remain unchanged.

Prepare a current year Cost Sheet and a Tendered ( Sheet of 2016 from the

following information :
OUR
Utsav Limited sold all its production for ©7,20,000 during the year 2015. Thegp™! P a
unit of the company for the first year was as under :
Particulars Amt. ()

Materials expense 60

Wage expense 50

Direct expense 10

Factory overheads :

Fixed 8
Variable 7
-~
Office Overhead :
Fixed 15

Sales Overheads :

Fixed 7
Variable 8

165
+ Profit 15
Sales 180

#,

Out of total production capacity 80% of Wlﬂn was done in 2015.

During the first half of next year the production will be 80% of capacity and for

(1) ‘ :
the later half of next year production will be 100%.

(2) There will be 10% increase in all variable expenses and 20% increase in all fixed

expenses.

_— l .
Prepare a Tendered Cost Sheet estimating 333% profiton sales price.

AL-118 10
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2. The following is the Trading and P/L Alc. of Naval

31-3-2016. Ltd. for the year ending on
Lt . - — Cr. "
E"I'“ - 1 Amt. (3) i Plrticulars Amt. (3)

To Materials 7,00,000 | By Sales (2000 units) [ | 0...'!6.000#
" Direct labour 4.80.000 ", Finished goods 2,74.000
| " Factory overheads 2,20,000 ; (300 units)
" Gross profit 6,00,000 [ " Work in Progress : '
Material 50.000
Labour 20,000
Factory overheads 30,000 | +1{00.000
20,00,000 . .| 20,00,000
To Administrative By G.P. b/d. 6.00.000
| overheads 1,40,000 | " Brokerage 40.000
" Sales-distribution 30,000 | " Profit on sale of
Overnoads __Investments 10.000
" Goodwill written off 8,000
| ©  Debenture interest paid 22,000 |
Net profit as per P/L A/c. 4,50,000
| L | 6,50,000 | 6,50,000

The following information has been obtained by investigating the cost records :

(1) Material and wages are charged at actual cost.

(2) Factory expénses have been allocated to the production at 50% of direct wages.
(3) Administrative expense have been charged at 10% of factory cost.
(4) Sales-distribution expenses have been charged at ¥ 10 per unit on units sold.
From the above informations : )’

(1) Prepare the Cost Sheet showing profit/loss.

(i1)  Prepare the statement reconciling the profits as per Cost Sheet and Profis as per
P/L Alc.

OR

(a) State the reasons for disag. .ents in the profit as shown by Cost Accounts and
that shown by Financial Accounts. .

AL-118 I P.T.O.



(b) Financial accounts of Farhan Ltd, reveal

L
Office Overheads 1,65,000
Selling overheads 72,000
Net Profit 80,000

Office overheads in Financial Accounts are 10% higher in comparison ©of Cost
Accounts and selling overheads arg 10% Inw?-
What will be the profit as per Cost Accounts
' ecounts and
(¢) How is finished stock and work in progress stock valued in Cost A .
Financial Accounts.

t a truck of

3. “Aran" Transport Company supplies the following information in respect © 14

5 tonne capacity :
Cost of Truck T 20,00,000

Life of Truck 10 years
Scrap value 10%
Diesel oil etc. T 1,200 per trip each way.
Repairs & Maintenance T 5,000 pm.
Salary: Dnver < 20,000 p.m.
Cleaner < 8,000 p.m.
Insurance ¥ 1,00,000 p.a.
Taxes < 50,000 p.a.

Sundry expenses. ¥ 18,000 p.a.

The truck carriés goods 10 and from a city covering a distance of 150 km each way.
Daily 2 round trips are taken and the truck runs 26 days a month. Freight is available to
the extent of full capacity on outward trip and to the Extent of 60% capacity on refurn

trip.

Calculate the operating cost per tonne km run. -
OR

(a) Wnitea short note on Hotel Costing.

g

r
(b) No. of Vehicles Specificatign®

40 5 tonnes
50 6 tonnes
60 7 tonnes

On an average each truck makes S trips in a day. Each trip covers a distance of
10 km. Each truck carries weight which is only 70% of the capacity. On an
average 20% trucks are laid up for repairs every day.

Calculate the tonne km per month for the month of Apnil, 2016.

Al.-118 12
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(c) State t‘he unit of cost for 3
(1) Adani Gas Company
(2) May Flower Hospital
(3) Adlabs theatre

Vivek Thakker of Thakker Construction Campany took a contract worth ¥ 10,09,000
on 1-1-2015. From the following information calculate the cost of work um:ernﬁelﬂm-I
Also calculate the profit to be transferred to P/L A/c. and work in progress on 2/3
Profit basis by preparing a detailed Contract Account. y
Particulars t9)
Materials issued 2,42,000
Material transferred from other contract 50,000
Plant issued (1-1-2015) 60,000
Wages paid 1,60,000
Other expenses 1,40,000
Cost of sub-contract 40,000
Cash received (75% of work certified) 6.00,000
Material destroyed duc to an accident 2,000
Material returned to stores 2,000
Material at site (31-12-2013) 10,000

Total work compléted on 31-12-2015 was 90% of contract price. Depreciation on plant
to be charged at 20% p.a. on reducing balance method.

OR

(a) Following information regarding Job No. 2530 is obtained from the cost records

AL-118

of a company.
(1) Cost of materials ¥ 5,000

(2) Costof wages (per hour)
Dep. o ¥ 2 (150 hours)

Dep. B ¥ 3 (90 hours)
Dep. 7T 4 (60 hours)
Dep. ¥ 5 (30 hours)
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(3)  Variable expenses of four depgrmen's are categorized as under :
a B Y ¢
X X ? <
20,000 12000 1.600
16000 S.000 800
0000 4000 600

Factory expenses 24,000
Office expenses 24.000
Sales expenses 12.000

(4)  Labour hours for these four departments are as under :
a - 5000 hours
B — 4500 hours
Y — 3000 hours

¢ - 500 hours
(5) Fixed Expenses are ¥ 85,000 for 1 7.000 houts.

(6) Calculate the selling price of Job/No. 2530 to eam 50% profit on sales

price.
o
(b) State the advantages of “Job Costing™

(¢) Wnte a note on “Escalation Clause™

5. Choose the correct option from the given options.
(Show necessary calculation wherever required) (any seven) :

(1) Whieh of the following expensc will be ad'l‘m/dcmd as a fixed cost from the view

point of a Transport company 7
(a) Diesel . .A®) Depreciation
(c) " Garage rent 7 () Allof the above

Cost per passenger km is 0.50 paisa. Distance between two cities is 100 km.

.
. Expected profit is 50% on freight. What will be the one way bus fare ?
(a) T 100 (b) T 45
(c) 50 (d 150
14
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(4)

(3)

(6)

sales is

(@) 10% ®)  20%
R | @) 12%

Carriage outward is a/an ’

(a) Purchase overhead (b) Factory overhead
(c) Office overhead [(d) Selling overhead

Prime cost is ¥ 25,000. Factory overhead, office overhead and selling overheads
are 20%, 15% & 10% of Prime Cost. If pmﬁt of 5% on total cost is'to be earned
the S.P. of the product will be

(@) %36.250 (b) 33,750
() ¥38.062.5 (d) 740,000

Profit as per Cost Account.is Z 50,000, goodwill written off is ¥ 5,000 and rent
received is ¥ 5,000. The profit as per Financial Accotnts will be

(@) ¥55,000 (b) ¥60,000
(c) ¥50,000 ,i?? T 40,000

(7) Due to under recovery of nverheaﬂﬁ in_Cost Accounts the profit of the Cost

Accounts

(a) Increases

(b) decreases

(c) remains constant
(d) decreases by double the amount of under recovery

(8) Time Limit forevery job is
(a) Monthly (b) Annual
(c) | Different (d) Bi-annual

(9) Work in Progress Account in Contract Account includes

(a)
(b)
(c)
(d)

\L-118

Work certified + work uncertified
Cr. bal. of plant

Cr. bal. of material
All of the above
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